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1. A laissez-faire economy is one in which individual people and firms pursue their own self-interest
without any central direction or regulations.

2. A simultaneous increase in both the supply of and the demand for T-shirt would cause an increase in
the equilibrium price of T-shirts.

3. Those who believe that the wage rate adjusts quickly to clear the labor market are likely to believe that
the aggregate supply curve is positively sloped, and that monetary and fiscal policy have a substantial
effect on output and employment.

4. The budget deficit tends to increase when GDP decreases as a result of the impact of the automatic
stabilizers and the need for expansionary government initiatives.

5. Market power allows a firm to charge any price it likes.
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1. You own a videotape of Titanic. The opportunity cost of watching this videotape for the second time
(a) Is zero.

(b) cannot be calculated.

(c) is the value of the alternative use of the time you spend watching the videotape.

(d) is one-half the cost of the videotape, since it is the second time you’ve watched 1it.

2. The quantity demanded of Coca Cola has decreased. The best explanation 1s that
(a) the price of Pepsi has increased.

(b) Coca Cola’s advertising is not as effective as before.

(c) the price of Coca Cola increased.

(d) consumers had an increase in income.

3. Apples and oranges are substitute goods. A freeze in Florida destroyed a good portion of the orange
corp. Ceteris Paribus,

(a) the price of both apples and oranges will increase.

(b) the price of both apples and oranges will fall.

(c) the price of oranges will increase and the price of apples will fall.

(d) the price of oranges will fall and the price of apples will increase.
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4 The owner of a hot dogs stand has estimated that if he lowers the price of hot dogs from $20 to $15, he
will increase sales from 400 to 500 hot dogs per day. The demand for hot dogs 1s
(a) elastic. (b) inelastic (¢) unitary elastic. (d) perfectly elastic.

5. When total product is maximized,

(a) both marginal product (MP) and average product (AP) are zero.
(b) MP is zero but AP is positive.

(c) MP is positive but AP is zero.

(d) both MP and AP are positive.

6. If the product derived from the last dollar spent on labor is less than the product derived from the last
dollar spent on capital, then the firm

(a) is minimizing COSts.

(b) should use more labor and less capital to minimize costs.

(¢) should use less labor and more capital to minimize costs.

(d) should increase the price paid to labor and decrease the price paid to capital.

7. The ABC shoes manufacturing has total fixed costs of $800, average variable cost is $20 and average
total cost is $25. The ABC shoes manufacturing is producing

(a) 250 pairs of shoes. (b) 100 pairs. (c) 160 patrs. - (d) 200 pairs. -

8. When will a profit-maximizing firm not operate at MC (marginal cost) =MR (marginal revenue)?
(a) When it is suffering a loss and P (price) <AVC (average variable cost).

(b) When it is suffering a loss but P>AVC |

(c) When it is earning normal profits.

(d) When it is earning a zero economic profit.

9 Assume there’s no leakage from the banking system and that all commercial banks are loaned up. The
required reserve ratio is 25%. If the central bank buys $5 million worth of government bonds from the

public, the change in the money supply 1s |
(a) —$20 million. (b) =$12.5 million. (c) $12.5 million. (d) $20 million.

10. Which of the following would be counted in the GNP of ROC, but not the GDP of ROC?
(3) Profits earned in ROC by foreign-owned companies. -

(b) Wages paid to foreigners working in ROC.

(¢) Dividends paid on stock in foreign-owned companies to ROC citizens.

(d) Rent paid to a ROC citizen who owns land in USA.

1. The money supply has increased from $1 tnillion to $1.1 trillion. Which of the following could have
caused this increase? | |

(a) The central bank sold government bonds to the public.

(b) Consumers deposited the money that earned from selling stocks.

(¢) The central bank increased the discount rate. -

(d) Commercial banks began to hold excess reserves.
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12. Assume that the marginal propensity to consume is 0.75. By increasing government spending by

$400, equilibrium output

(a) increases by $1600, decreases by $1600
(b) increases by $1600, decreases by $1200
(c) increases by $1200, decreases by $1600
(d) increases by $400, decreases by $400

- and by increasing taxes by $400, equilibrium output

13. According to the Phillips curve, if policy makers want to reduce the unemployment rate, they must

accept

(a) a lower inflation rate.

(b) a higher inflation rate.

(c) a reduction in aggregate demand.

(d) a reduction in aggregate supply.

14. Full employment means that

(a) unemployment rate equals zero.
(b) unemployment rate equals natural rate of unemployment.

(c) the level of output equals the potential output.
(d) Both (b) and (c) are true.

15. Which of the following is a cost of anticipated inflation?
(a) Debtors are made worse off.

(b) Creditors are made worse off.
(c) The degree of risk associated with investment in the economy increases.
(d) If people are not fully informed about the changes in price, resources will be misallocated.
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